BK S:t Erik
Nationaldagssilver 2014-06-06

Partavling, 22 bord, 44 par. Antal brickor: 42. Medel: 881.7.

Plac Par Poéang % Namn MID Klubb
1 22 1152.0 65.31 Johan Upmark - Simon Ekenberg 24498 41685 BK S:t Erik - Overums BK
2 62 1126.8 63.88 Per-Ola Cullin - Peter Bertheau 21204 16757 Uppsalabridgen
3 19 1110.0 62.93 Sven-Owe Andersson - Hans Vestergren 8954 33345 BK S:tErik
4 13 1025.0 58.11 Peter Carlsson - Hakan Lindblom 11594 1437 BK S:tErik
5 75 1012.0 57.37 Goran Hammarstrom - Mikael Arnberg 11426 24686 BK S:t Erik
6 16 1007.0 57.09 Max Odlund - Bim Odlund 9267 9266 BK S:tErik
7 18 999.0 56.63 Lennart Eriksson - Nils Andersson 9020 3543 ArlaBK - ABB BK
8 4 994.8 56.39 Lars Manneteg - Carmen Tuason 2944 89810 Uppsalabridgen - BK S:t Erik
9 21 994.0 56.35 Ake Sjoberg - Margareta Sjéberg 9207 24704 BK S:tErik - Arla BK
10 74 9920 56.24 Thomas Magnusson - Mats Bud 3693 234  BK ALERT - BK S:t Erik
11 17 988.0 56.01 Erika Rodin - Anders Morath 93303 4664 BK S:tErik
11 78 988.0 56.01 Denny Abrahamsson - Micke Almgren 23656 11390 Arla BK
13 68 965.0 54.71 Peter Flodqvist - Ake Falkunge 14778 9025 BK S:t Erik
14 65 947.0 53.68 Peter Tornblom - Tore Stormo 2265 78250 BK S:tErik - Arla BK
15 79 938.0 53.17 Sigvard Carlefred - Magnus Arve 45885 40423 BK S:tErik
16 14 937.0 53.12 Dan Martinson - Karin Martinson 38752 38753 BK S:tErik
17 61 936.8 53.11 Jessica Larsson - Kathrine Bertheau 17400 81089 Filbyter Bridge
18 59 931.0 52.78 Gudrun Strandberg - Ylva Strandberg 4143 9217 ArlaBK
19 15 929.0 52.66 Mona Hellingh - Ulf Lindgren 22782 89486 BK S:tErik
20 60 924.0 52.38 Anders Spjuth - Nils-Erik Stromberg 15032 17062 Vasbybridgen - BK S:t Erik
21 20 910.0 51.59 Mona Iwarson - Paul lwarson 8655 12865 Lidingd BK
22 2 894.0 50.68 Claes Melin - Henning Tingvall 9105 10744 BK S:tErik
23 1 887.0 50.28 Bjorn Samuelsson - Marten Aronsson 29750 32555 BK S:tErik
24 77 864.0 48.98 Allan Nouri Otman Farha - Ludvig Lettermark 47179 53074 BK S:tErik
25 12 8540 48.41 Piotr Deyna - Jan Rudenstedt 5724 6653 BK S:tErik
26 3 847.0 48.02 Daniel Anteryd - Johannes Matsson 88282 52882 Karlstads BK
27 66 842.0 47.73 Elena Strém - Lilly Sturesson 8220 2308 BK S:tErik - Sthims-Polisens BS
28 71 839.0 47.56 PerLeandersson - Ola Weinberg 87992 94278 BK S:tErik
29 69 829.0 47.00 Lars Malm - Erik Wassberg 90738 55890 BK S:t Erik
30 9 823.0 46.66 Jan-Ove Hed - Bengt Sjoborg 48412 47725 SEB Bridge - BK S:t Erik
31 10 8050 45.63 Inga-Lill Franzén - Ulla Ljungdahl 50982 83276 BK S:tErk
32 8 799.0 45.29 Birgitta Ternblad - Sten Ternblad 1981 9539 BK S:tErik
33 7 791.0 44.84 Lars Nilsson - Bengt Stahre 43950 2409 BK S:tErik - BK ALERT
34 5 787.0 44.61 Magnus Rasmussen - Peder Jensen 48718 44612 BK S:tErik
35 73 781.0 44.27 Elsy Bergstedt - llja Krusnell 16858 25840 BK Tva Ess - Jakobsbergs BK
36 70 780.0 44.22 Eva Blomberg - Stefan Andersson 83300 84771 BK S:tErik
37 80 776.0 43.99 Peter Ventura - Per Séderberg 3715 18380 Folkare BK - BK S:t Erik
38 67 752.0 42.63 Catarina Midskog - Mikael Johnsson 2490 56576 Karlstads BK
39 72 750.0 42.52 Johan Englund - Inger Gerle 53131 39792 BK S:tErik
40 63 729.0 41.33 Anders d'Aquino - Hannu Oikarainen 21174 35098 BK S:tErik
41 64 708.0 40.14 EvaKlingspor - Eva Zarins 26851 36267 BK S:tErik
42 76 668.0 37.87 Franciska Levy - Gianpaolo Vigliar 78205 55569 BK S:tErik
43 11 639.0 36.22 Kerstin Hastad - Bengt Lauthers 11222 32610 Danderyds BS - BK S:t Erik
44 6 545.0 30.90 Elisabeth Karlsson - Lena Sandquist 39010 44630 BK S:tErik
1 4963 2 « EKn8632 3 « K6
Nord vE3 Ost v9 Syd vK1096
Ingen ¢ 1095 NS ¢+ E105 ov 4984
#EKN1042 #Kn54 #KDKn9
4E1052 4K84 4 D75 410 4 EKn9542 4 D873
v6542 v KKnl09 vE3 v KDKn1076 v7 v DKn
+83 + EK4 ¢ KKn32 ¢ D864 ¢ Kn532 + ED106
#873 »KD9 #D1063 &E2 285 *E62
4« DKn7 4 K94 410
v D87 v 8542 v E85432
¢ DKn762 ¢ 97 * K7
#65 #K987 #10743
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
61 20 2N O -2 2 100 420 00| 4 77 5vDO-1 v7 100 410 10| 576 4¢vDS= ¢5 590 42.0 0.0
378 INO-1 2 50 370 50| 972 4v0-2 a4 100 410 10|62 19 4v S= a A 420 38.0 4.0
4 77 INO-1 +3 50 37.0 50| 576 4v0O-1 +9 50 37.0 5.0|64 17 4v S= +3 420 38.0 40
576 4v0O-1 »6 50 370 50|74 7 5v0-1 a4 50 370 50|74 7 4v S= 8 420 38.0 40
73 8 4v0O-1 *6 50 370 50|75 6 3¢ O= a2 -110 34.0 8.0(71 10 3v S+1 &8 170 33.0 9.0
59 22 14 0= +Q -70 31.0 11.0| 3 78 3¢ V+2 v9 -150 32.0 10.0|75 6 3v S+1 &8 170 33.0 90
63 18 1 O= +Q -70 31.0 11.0(63 18 3v O+1 44 -170 30.0 12.0| 2 79 44 O-1 +K 100 20.0 22.0
11 70 14O +1 4Q -90 27.0 15.0(59 22 44DN-1 &A -200 27.0 15.0| 3 78 44 V-1 v9 100 20.0 22.0
68 13 INO= 2 -90 27.0 15.0(|65 16 44DN-1 vQ -200 27.0 15.0| 9 72 44 V-1 *K 100 20.0 22.0
62 19 2v O= 2 -110 220 200| 2 79 4v O= +9 -420 14.0 28.0|59 22 44 V-1 +K 100 20.0 22.0
69 12 2v V= *A -110 22.0 20.0|11 70 4v O = a4 -420 14.0 28.0|61 20 44 V-1 *K 100 20.0 22.0
75 6 2v 0= +Q -110 22.0 20.0|15 66 4y O= oK -420 14.0 28.0 |63 18 44 V-1 *K 100 20.0 22.0
60 21 3v O= a2 -140 140 28.0|60 21 4v O= a2 -420 14.0 28.0|65 16 44 V-1 +K 100 20.0 22.0
64 17 3v V= 2 -140 14.0 28.0|61 20 4v O = 8 -420 14.0 28.0|67 14 44 V-1 *K 100 20.0 22.0
65 16 2v O+1 &5 -140 14.0 28.0(62 19 4y O= Ly -420 14.0 28.0|68 13 44 V-1 vK 100 20.0 22.0
67 14 3v V= 43 -140 140 28.0|67 14 4v O= a4 -420 14.0 28.0|69 12 44 V-1 +K 100 20.0 22.0
71 10 3v O = &5 -140 14.0 28.0(68 13 4v V= *2 -420 140 28.0|73 8 44 V-1 +K 100 20.0 22.0
74 7 2NO+1 &Q -150 7.0 35.0(69 12 4v O= a4 -420 14.0 28.0| 4 77 5v S-1 +5 -50 7.0 35.0
80 1 34S-3 v5 -150 7.0 35.0(|71 10 4v O = oK -420 140 28.0|80 1 5v S-1 +5 -50 7.0 35.0
279 3y O+1 %6 -170 2.0 40.0|73 8 4v O= a4 -420 14.0 28.0|15 66 5vDS-1 4A -100 4.0 38.0
972 1y O+3 4Q -170 2.0 40.0|64 17 3NO+1 v9 -430 2.0 40.0 (60 21 34 V= *K -140 2.0 40.0
15 66 2v O+2 &Q -170 2.0 40.0(80 1 4v O+1 v¥5 -450 0.0 42.0(11 70 54DN-2 a7 -300 0.0 42.0
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4 « D75 5 « D872 6 493
Vast v K764 Nord v D652 Ost vD7
Alla ¢ 1054 NS +D ov ¢ DKn43
#KD9 #K1096 #D8543
« K10632 484 # EKn 4105 4 K102 4 EDKn74
vE102 v 953 vEK v 1093 vKn62  v109543
+ Kn96 + 87 ¢ K98543 ¢ E1062 + K87 4952
&73 #EKN10865 #Kn73 #D852 #KKN96 -
« EKn9 » K9643 4 865
v DKn8 vKn874 v EK8
¢ EKD32 ¢ Kn7 ¢ E106
42 &E4 &E1072
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
75 8 2vDV-4 &K 1100 42.0 0.0(62 21 3v N= ¢ A 140 410 10| 4 78 24 0-4 *2 400 42.0 0.0
4 78 3NS+2 a2 660 33.0 9.0|72 11 34 S= vA 140 41.0 1.0|16 67 INN+1 v2 120 39.0 3.0
12 71 3N S +2 a2 660 33.0 9.0(74 9 4e¢ V-1 a7 50 380 40|72 11 INS+1 v2 120 39.0 3.0
16 67 3NN+2 &2 660 33.0 9.0|10 73 34 S-1 vA -100 33.0 9.0|61 22 3#S= v2 110 350 7.0
62 21 3NS+2 43 660 33.0 9.0|66 17 34 S-1 vA -100 33.0 9.0(62 21 3#S= a2 110 350 7.0
65 18 3N S +2 a2 660 33.0 9.0(68 15 34 S-1 vK -100 33.0 9.0(10 73 4v O-1 ¢A 100 30.0 12.0
68 15 3N S +2 43 660 330 90|75 8 34S-1 vA -100 33.0 9.0(12 71 24 V-1 49 100 30.0 12.0
69 14 3N S +2 a2 660 33.0 9.0|80 2 3¢ V= +Q -110 28.0 14.0(65 18 34 O-1 a5 100 30.0 12.0
74 9 3NS+2 43 660 33.0 90| 1 7 2¢V+2 a7 -130 22.0 200 3 79 INS= v2 90 26.0 16.0
1 7 3NS+1 a2 630 20.0 22.0| 5 77 3¢ V+1 +Q -130 22.0 200 5 77 34 N-1 v3 -50 23.0 19.0
379 3NS+1 a2 630 20.0 22.0|60 59 4¢ V= a7 -130 22.0 20.0|69 14 INS-1 a2 -50 23.0 19.0
5 77 3NS+1 &7 630 20.0 22.0|61 22 3¢ V+1 a7 -130 22.0 200 1 7 24 O= a5 -110 17.0 25.0
10 73 3NN+1 «38 630 20.0 22.0|65 18 3¢ V+1 46 -130 22.0 20.0|64 19 2v V= +Q -110 17.0 25.0
60 59 3NN+1 48 630 20.0 22.0| 3 79 2NV +1 a7 -150 11.0 31.0|70 13 2v V= 49 -110 17.0 25.0
66 17 3NN= 48 600 12.0 30.0( 4 78 1INV +2 a7 -150 11.0 31.0|74 9 2v V= 49 -110 17.0 25.0
72 11 3NS= a2 600 12.0 30.0|16 67 INO+2 &2 -150 11.0 31.0|66 17 2v O+1 YA -140 11.0 31.0
80 2 3NN= &T 600 12.0 30.0 (63 20 3¢ V +2 *9 -150 11.0 31.0(68 15 34 O= a5 -140 11.0 31.0
63 20 24D O-1 %4 200 8.0 340(69 14 INO+2 43 -150 11.0 31.0(60 59 3& N-3 vT -150 6.0 36.0
6 76 2¢ S+2 &7 130 6.0 36.0(70 13 1INV +2 a2 -150 11.0 31.0|63 20 3N S-3 v2 -150 6.0 36.0
61 22 3NN-2 &T -200 2.0 40.0|12 71 INV+3 »6 -180 4.0 38075 8 2NN-3 a2 -150 6.0 36.0
64 19 3NS-2 &7 -200 2.0 40.0| 6 76 2NV +3 «9 -210 2.0 400( 6 76 44DS-2 42 -300 1.0 41.0
70 13 3NS-2 *7 -200 2.0 40.0|64 19 3NV= a7 -400 0.0 42.0(80 2 44DS-2 42 -300 1.0 41.0
7 & K952 8 45 9 4 K9
Syd v EKn5 Vast vED72 Nord vK
Alla ¢ Kn983 Ingen ¢ 543 ov ¢ E8753
74 £D10874 &#KD872
46 « EDI10 2 K9764 4 EKn3 108763 & EKn54
v742 vKD1063 v3 v Kn984 vE72 vKn108
4107654 ¢ KD2 ¢ Kné + EK1087 ¢ Kn94 + KD10
#D983 *K6 #EK652 #Kn &54 #1063
4« Kn8743 « D1082 «D2
v 98 v K1065 v D96543
¢ E ¢+ D92 ¢ 62
#EKn1052 £93 *EKn9
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
75 10 34aRDS= ¢2 960 42.0 0.0|13 72 54 O-3 »5 150 41.0 1.0(73 12 4v S+1 43 450 42.0 0.0
69 16 3NDO-3 43 800 40.0 2.0|75 10 44 V-3 +3 150 41.0 1.0(67 18 4v S= »5 420 40.0 2.0
11 74 34DS= &8 730 380 40| 1 9 4eV-2 vA 100 340 80| 2 8 3NN= + K 400 38.0 4.0
73 12 24 S= *4 110 36.0 60| 4 79 44 V-2 vA 100 340 8.0|66 19 34 V-2 &K 200 36.0 6.0
578 4¢v0-1 +6 100 32.0 10.0| 6 77 44 V-2 v7 100 340 80| 1 9 2vS+2 v2 170 31.0 11.0
17 68 4v O-1 *A 100 32.0 10.0|62 59 44 V-2 +3 100 34.0 8.0(|63 22 2v S+2 &5 170 31.0 11.0
64 21 4v O-1 *A 100 32.0 10.0|66 19 44 V-2 &4 100 340 8.0(64 21 3v S+1 48 170 31.0 11.0
13 72 44 N-1 46 -100 26.0 16.0 (11 74 44 V-1 +5 50 24.0 18.0|80 3 2v S+2 43 170 31.0 11.0
62 59 34 S-1 8 -100 26.0 16.0 (17 68 44 V-1 a2 50 240 18.0|13 72 44 N+1 &A 150 24.0 18.0
80 3 34 N-1 vK -100 26.0 16.0 |61 60 44 V-1 *4 50 240 18.0|62 59 44 S +1 43 150 24.0 18.0
479 1lv O+2 v5 -140 21.0 21.0|71 14 44 V-1 &4 50 24.0 18.0|71 14 34 N+2 %4 150 24.0 18.0
71 14 2v O+1 ¢A -140 21.0 21.0|73 12 44 V-1 &7 50 240 18.0| 5 78 2v S+1 a5 140 18.0 24.0
2 8 44 S-2 v2 -200 15.0 27.0| 7 76 2¢ O+1 &9 -110 18.0 24.0| 7 76 2v S+1 48 140 18.0 24.0
7 76 34DN-1 vK -200 15.0 27.0 |64 21 34 V= *4 -140 16.0 26.0(69 16 2v S+1 &4 140 18.0 24.0
65 20 44 S-2 &5 -200 15.0 27.0(69 16 3NO= 48 -400 14.0 28.0(65 20 3« N+1 45 130 14.0 28.0
66 19 44DS-1 &8 -200 15.0 27.0| 2 8 44 V= +3 -420 8.0 34.0| 6 77 3¢ N= vT 110 9.0 33.0
61 60 44DS-2 v7 -500 9.0 33.0| 5 78 44 V= *4 -420 8.0 34.0(11 74 34 N-= »3 110 9.0 33.0
70 15 44DS-2 w7 -500 9.0 33.0|65 20 44 V= LY -420 8.0 34.0(70 15 34 N= *6 110 9.0 33.0
1 9 4v0= *A -620 4.0 38.0|70 15 44 V= &4 420 8.0 34.0(75 10 2 N+1 42 110 9.0 33.0
6 77 4v O= ¢A -620 4.0 38.0(80 3 44 V= a5 -420 8.0 34.0| 4 79 3NN-1 a4 -50 2.0 40.0
67 18 4v O =_ *A -620 4.0 38.0|63 22 4e V+1 8 -450 2.0 40.0(17 68 5# N-1 + K -50 2.0 40.0
63 22 24RDO = ¢A -760 0.0 42.0(67 18 3NO+2 ¢2 -460 0.0 42.0|61 60 4v S-1 aT -50 2.0 40.0
10 @- 11 #1073 12 «E8
Ost v9 Syd v Kn5 Vast v KD1065
Alla ¢+ KKn764 Ingen ¢+ Kn43 NS + 1064
#DKn107652 #Kn9642 *K82
& EK42 & DKn985 4Kn92 4E854 4« DKn5 4 K109743
vKnl0764 D83 vE986 vK1032 vKn3 vE8
410953 + ED2 +D865 ¢7 ¢85 + D97
»- #E8 #EK #D873 #DKn9743 &E6
10763 « KD6 462
v EK52 vD74 v 9742
+8 + EK1092 ¢ EKKn32
#K943 #105 #105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 76 54DO-3 +¢8 800 420 0.0|72 15 4v V-2 +3 100 420 00| 2 10 4v N= 49 620 41.0 1.0
62 61 24D S+3 &A 780 40.0 2.0|18 69 4v V-1 +3 50 40.0 2.0|65 22 4v N= A 620 41.0 1.0
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DS= «Q 750 350 70| 8 76 INS-1 v6 -50 38.0 4.0|18 69 3v N+2 &A 200 4.0
DS= @A 750 350 70| 111 INS-2 +6 -100 340 8.0|14 73 3v N+1 &A 170 7.0
DS= &J 750 350 70|70 17 INS-2 +6 -100 34.0 8.0(67 20 3v N+1 &A 170 7.0
DS= &A 750 350 7.0|74 13 INS-2 +5 -100 340 80| 8 76 44DO-1 +A 100 11.0
S= & K 600 30.0 12.0| 2 10 2¢v O = *A -110 28.0 14.0(68 19 44D O-1 +A 100 11.0
DO- &3 200 28.0 140(12 75 2v O= &T -110 28.0 14.0|62 61 3& V-1 vK 50 16.0
DN - &Q -200 26.0 16.0 (67 20 2v O= v4 -110 28.0 14.0(71 16 44 O-1 *A 50 .0 16.0
O= +8 620 19.0 230 3 9 2v O+1 &T -140 22.0 20.0|74 13 44 O-1 *A 50 .0 16.0
0= vA -620 19.0 23.0( 7 77 3v V= &2 -140 220 200| 1 11 34 O= v2 -140 .0 26.0
0= &Q -620 19.0 23.0|14 73 2v V+1 +3 -140 22.0 200 3 9 34 0O= *A -140 .0 26.0
O= vK -620 19.0 23.0| 5 79 2v V+2 +3 -170 140 28.0| 7 77 34 O= *A -140 .0 26.0
0= +8 -620 19.0 23.0|64 59 3v V+1 *3 -170 140 28.0|12 75 34 O = *K -140 .0 26.0
o= vA -620 19.0 23.0|65 22 3v V+1 +3 -170 14.0 28.0 (66 21 34 O= *A -140 .0 26.0
V+1 *4 -650 8.0 340|166 21 2v O+2 ¢A -170  14.0 28.0|70 17 34 O = *A -140 6.0 26.0
O+1 38 -650 8.0 34.0|68 19 2v V +2 *3 -170 140 28.0|72 15 34 O = v4 -140 6.0 26.0
0O+1 vK -650 8.0 340|62 61 3¢DS-2 &K -300 7.0 350 579 34 O+1 ¢+ K -170 8.0 34.0
O+1 vA -650 8.0 340|71 16 3¢DS-2 a2 -300 7.0 35063 60 34 O+2 ¢A -200 6.0 36.0
O+1 vA -650 80 340| 6 78 4v V= *J -420 3.0 39.0| 6 78 44 O= *A -420 3.0 39.0
DVv= ¢4 -850 1.0 41.0(80 4 4v V= +3 -420 3.0 39.0(64 59 44 O= *A -420 3.0 39.0
= YA -850 1.0 41.0(63 60 3¢DS-3 «K -500 0.0 42.0|80 4 34DO= ¢A -530 0.0 42.0
80 4 Pen/Pen 0.0 -4.2
« ED108754 14 #9383 15 & Kn874
v8 Ost v KD7 Syd v DKn3
¢ 32 Ingen + D64 NS + K8
&E65 &EK64 &#KKn108
& KKn63 «D7652 «KKnl104 & K6 & E1092
v1097 v DKn62 v8 v 642 vK9652 vE7
¢ EKn74 ¢ K85 ¢ EKn52 ¢ K109 ¢ E107 ¢ D654
#9432  &K10 &D52 &#Kn87 &E95 &D72
- sE « D53
v EK543 v EKn10953 v1084
+ D1096 + 873 ¢ Kn932
&DKn87 #1093 643
Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4y V -4 +3 400 420 00| 9 76 4v S= a2 420 380 40| 4 10 3NV-1 &T 50 0.0
N +1 vQ 140 40.0 2.0(13 1 4v N= a] 420 38.0 40| 2 12 3v V+1 a7 -170 2.0
N = +5 110 37.0 50|19 70 4v N= 46 420 380 40| 8 77 3NV= &T -400 11.0
N= v4 110 37.0 50|69 20 4v S= a2 420 38,0 4.0|15 74 3NV= & -400 11.0
N -1 +5 -100 28.0 14.0|75 14 4v S= a2 420 380 4.0(19 70 3NV = &T -400 11.0
N -1 vQ -100 28.0 14.0| 2 12 44DV-2 v¥K 300 32.0 10.0|63 62 3NV= & -400 11.0
N -1 vQ -100 28.0 14.0| 7 78 3v S+1 a2 170 29.0 13.0(66 59 3NV = vQ -400 11.0
N -1 vQ -100 28.0 14.0|65 60 2v S+2 a5 170 29.0 13.0(68 21 3NV= »J -400 11.0
N -1 vQ -100 28.0 14.0| 4 10 3v S= +5 140 22.0 20.0({69 20 3NV = &T -400 11.0
N -1 a2 -100 28.0 14.0|15 74 2v S+1 a2 140 22.0 20.0(80 5 3NV= &T -400 11.0
N -1 +5 -100 28.0 14.0|64 61 2v S+1 a2 140 22.0 20.0| 6 79 3NV +1 vQ -430 26.0
S-2 vT -200 16.0 26.0|72 17 3v S= a2 140 22.0 20.0| 7 78 3NV +1 &T -430 26.0
DN-1 vQ -200 16.0 26.0|73 16 3v S= a5 140 22.0 20.0| 9 76 3NV +1 LY -430 26.0
N -2 +5 -200 16.0 26.0(80 5 44DV-1 ¢vK 100 16.0 26.0|13 1 3NO+1 *2 -430 26.0
S-2 vT -200 16.0 26.0| 3 11 4e V-1 &A 50 13.0 29.0|65 60 3NV +1 &T -430 26.0
S-2 &4 -200 16.0 26.0 (68 21 34 V-1 vK 50 13.0 29.0(71 18 3NV +1 vQ -430 26.0
S-3 *4 -300 9.0 330 6 79 4v S-1 v8 -50 6.0 36.0|75 14 3NO+1 a3 -430 26.0
S-3 &4 -300 9.0 33.0| 8 77 4v N-1 v2 -50 6.0 36.0( 3 11 4v V+1 a7 -450 34.0
S-4 *7 -400 6.0 36.0|63 62 4v S-1 a2 -50 6.0 36.0|64 61 3NO +2 *2 -460 37.0
DN-2 ¢Q -500 3.0 39.0|66 59 4v S-1 a3 -50 6.0 36.0 (67 22 3NV +2 a7 -460 37.0
DN-2 vJ -500 3.0 39.0(71 18 4v S-1 a2 -50 6.0 36.0|72 17 3NV +3 &T -490 40.0
O+ v3 -630 0.0 42.0|67 22 34 O= &3 -140 0.0 42.0|73 16 3#DN-6 +¢Q -1700 42.0
&75 17 & KD83 18 & Kn
v 107 Nord vK Ost v E1042
+ 10973 Ingen 4108762 NS + D6532
&ED1095 #1085 &E65
4 Kn964 «EK102 & E5 41076 #1043 & E852
v9654 vED3 vEDKNn1098 v43 vKn763 v KD9
¢+ EK52 ¢ D6 4943 + EKD5 ¢+ Kn4 + K97
&#KKn84 &E9 &#KKn72 &#DKn87 #K103
« D83 & Kn942 & KD976
v KKn82 v 7652 v 85
¢ Kn84 ¢+ Kn + E108
763 D643 942
Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res g
O-2 *4 200 40.0 2.0|16 75 6v O-3 £y 150 420 00| 4 12 INO-3 a3 150 0.0
V-2 T 200 40.0 2.0|67 60 3NO-2 LY 100 40.0 2.0|68 59 24 S+1 +J 140 2.0
V-2 &A 200 400 20| 511 4v V-1 aK 50 360 6.0 7 79 INO-2 46 100 7.0
0-1 *4 100 30.0 12.0|10 76 4v V-1 LY:] 50 36.0 6.0|/20 71 INO-2 a5 100 7.0
0-1 +3 100 30.0 12.0|68 59 4v V-1 & K 50 36.0 6.0|70 21 INO-2 a7 100 7.0
0-1 *4 100 30.0 12.0| 3 13 3NO= a4 -400 29.0 13.0|80 6 INO-2 &K 100 7.0
0-1 v8 100 30.0 12014 2 3NO= LY -400 29.0 13.0( 3 13 INO-1 46 50 15.0
0-1 *4 100 30.0 12.0|72 19 3NO= a2 -400 29.0 13.0( 9 77 INO-1 a7 50 15.0
0-1 4 100 30.0 12.0(74 17 3NO= a4 -400 29.0 13.0|10 76 INO-1 a7 50 15.0
O-1 &3 100 30.0 12.0|70 21 4v V= &K -420 23.0 19.0(66 61 INO-1 & K 50 15.0
V= &T -600 22.0 20.0|73 18 4v V= & K -420 23.0 190 1 15 INO= a7 -90 23.0
o= *4 -620 12.0 300 1 15 5v O= *J -450 140 28.0|14 2 INO= 49 -90 23.0
0= &3 -620 12.0 30.0( 4 12 4v O+1 +J -450 14.0 28.0 (67 60 INO= &2 -90 23.0
O= &2 -620 12.0 30.0| 7 79 4v V+1 & K -450 14.0 28.0(69 22 INO= a7 -90 23.0
V= &A -620 12.0 30.0| 8 78 4v V+1 & K -450 14.0 28.0| 5 11 24 S-1 *Q -100 29.0
0= &7 -620 12.0 30.0( 9 77 4v O+1 +J -450 14.0 28.0(73 18 34 S-1 +J -100 29.0
O= &3 -620 12.0 30.0|64 63 4v V+1 & K -450 14.0 28.0| 8 78 INO+1 & Q -120 35.0
V= T -620 12.0 30.0|80 6 4v V+1 & K -450 14.0 28.0|64 63 INO +1 v8 -120 35.0




70 21 44 O= +4 -620 12.0 30.0(20 71 3NO+2 +J -460 6.0 36.0(72 19 INO+1 49 -120 7.0 35.0
74 17 44 V= vT -620 12.0 30.0 |66 61 4v V +2 +J -480 4.0 38.0|74 17 2NO= &K -120 7.0 35.0
14 2 3NO+1 43 -630 1.0 41.0(65 62 3NV +3 2 -490 1.0 41016 75 INO+2 4Q -150 1.0 41.0
72 19 3NO+1 &3 -630 1.0 41.0(69 22 3NO+3 &4 -490 1.0 41.0|65 62 INO+2 &K -150 1.0 41.0
19 a4 20 454 21 4« Kn9732
Syd v Kn1097542 Vast v E962 Nord v 942
(6)%) ¢ E963 Alla ¢ EKn97 NS +83
&5 &#Kn52 &K73
105 & EKKNn972 43 « ED109 Ly » KD65
v D86 vE vDKnl1054 vK873 vEKD85 vKnl06
¢ DKn42 +K5 ¢+ K10863 ¢2 +KD764 ¢E2
#KD83 &Kn764 &E7 #10963 *E4 #DKn108
« D863 « KKn8762 «E108
v K3 v- v73
+ 1087 ¢+ D54 ¢ Kn1095
#E1092 #KD84 #9652
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
65 64 44DO-2 vK 500 420 0.0|17 1 3¢DV-4 a5 1100 42,0 0.0|75 18 6NV-3 a2 150 42.0 0.0
513 44 O-1 vK 100 38.0 4.0|80 7 34DS+1 8 930 40.0 2.0|21 72 6v V-2 +8 100 39.0 3.0
15 3 5#0-1 *T 100 380 40| 4 14 3vyDV-3 45 800 370 50|80 7 6NDO-1 ¢J 100 39.0 3.0
66 63 44 O-1 vK 100 38.0 4.0|68 61 4vDO-3 &K 800 370 50| 9 78 6NO-1 +*J 50 340 8.0
73 20 4v S-3 oT -150 34.0 8.0(65 64 3vyDO-2 «K 500 32.0 100|177 1 6v V-1 a2 50 34.0 8.0
21 72 34 O+1 vK -170 31.0 11.0(66 63 4vDV-2 45 500 32.0 10.0|65 64 6v V-1 v2 50 34.0 8.0
70 59 34 O+1 vK -170 31.0 11.0|75 18 3vDO-2 &K 500 32.0 10.0|66 63 4v V +1 +8 -450 30.0 12.0
74 19 5vDN-3 &A -500 28.0 14.0(69 60 4v V-3 v2 300 28.0 14015 3 3NV+2 43 -460 28.0 14.0
6 12 44 O= v2 -620 19.0 23.0(10 77 4v V-2 a5 200 22.0 20.0| 2 16 6v V= a7 -980 14.0 28.0
9 78 44 O= vK -620 19.0 23.0(11 76 3v V-2 &K 200 22.0 20.0| 4 14 6v V= +8 -980 14.0 28.0
10 77 44 O= vK -620 19.0 23.0(21 72 3v V-2 a4 200 22.0 20.0| 5 13 6v O= *J -980 14.0 28.0
11 76 44 O= vK -620 19.0 23.0(70 59 4v O-2 &K 200 22.0 20.0| 6 12 6v V= &3 -980 14.0 28.0
67 62 44 O= vK -620 19.0 23.0(74 19 4vDV-1 45 200 22.0 20.0| 8 79 6v V= +8 -980 14.0 28.0
68 61 44 O= vK -620 19.0 23.0|15 3 34 S= +3 140 16.0 26.0(10 77 6v O = aA -980 14.0 28.0
69 60 44 O= vK -620 19.0 23.0( 2 16 4v V-1 *2 100 11.0 31.0|67 62 6v O = v7 -980 14.0 28.0
71 22 44 O= vK -620 19.0 23.0 (67 62 4v V-1 a5 100 11.0 31.0(68 61 6¥ O= *J -980 14.0 28.0
8 79 34DO= vK -730 10.0 32.0(71 22 4v V-1 a5 100 11.0 31.0(69 60 6% V= +8 -980 14.0 28.0
2 16 44DO= vK -790 4.0 38.0(73 20 4v V-1 a5 100 11.0 31.0|70 59 6v V= v2 -980 14.0 28.0
4 14 44DO= vK -790 4.0 380 6 12 34 S-1 vQ -100 6.0 36.0|71 22 6v V= a2 -980 14.0 28.0
17 1 44DO= ¥K -790 4.0 38.0| 5 13 44DS-1 ¢Q -200 2.0 40.0(73 20 6v V= v2 -980 14.0 28.0
75 18 44D O = #A -790 4.0 38.0( 8 79 44DS-1 ¢vQ -200 2.0 40.0|74 19 6v V= +8 -980 14.0 28.0
80 7 44DO= ¥K -790 4.0 380| 9 78 44DS-1 ¢Q -200 2.0 40.0|11 76 6NV = a3 -990 0.0 42.0
22 « Kn9 23 « D63 24 « D107
Ost v Kn6 Syd v Kn62 Vast v D542
ov + EDKNn94 Alla + EK54 Ingen +8
#Kn753 #Kn52 #D9632
«D10832 sE4 & Kn7 « EKKn3 4852
v K42 vEK1075 ¢43 vKKn9 vE876
+ K106532 ¢ 87 4982 + DKn1063 ¢E932 ¢ DKn7
»E84 #D108 #E643 #85 #EK10
« EK754 4 K109852 + 964
v ED985 v D98 v 103
¢- o7 + K10654
#K96 K97 &Kn74
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
119 3NS= +3 400 40.0 2.0|74 21 54DO-5 49 1400 420 0.0|12 76 4NV-1 &3 50 40.0 2.0
75 20 3NN= 2 400 40.0 20| 9 79 INO-2 oT 200 38.0 4.0|68 63 3NO-1 »2 50 40.0 2.0
80 8 3NN= +8 400 40.0 20|16 4 3v O-2 + K 200 38.0 4.0|74 21 3NV-1 »2 50 40.0 2.0
66 65 24 S+1 +6 140 350 7.0|18 2 4v V-2 43 200 380 40|11 77 3NV= *2 -400 32.0 10.0
72 59 34 S= +3 140 350 7.0|10 78 34 S= vA 140 33.0 9.0(|18 2 3NV= »2 -400 32.0 10.0
3 17 3NN-1 a2 -50 26.0 16.0 (67 64 34 N= vK 140 33.0 9.0|22 73 3NV= »2 -400 32.0 10.0
6 14 3NN-1 LY -50 26.0 160 1 19 4v V-1 43 100 28.0 14.0|69 62 3NV = »2 -400 32.0 10.0
9 79 44 S-1 +3 -50 26.0 16.0(22 73 3v V-1 ¢ A 100 28.0 14.0|80 8 3NV= *3 -400 32.0 10.0
18 2 3NN-1 46 -50 26.0 16.0(69 62 3& V-1 *A 100 28.0 14.0| 3 17 3NV +1 &2 -430 20.0 22.0
22 73 44 S-1 2 -50 26.0 16.0( 3 17 34 S-1 *2 -100 17.0 25.0| 6 14 3NV +1 v5 -430 20.0 22.0
67 64 4v S-1 46 -50 26.0 16.0( 5 15 24 S-1 v4 -100 17.0 25.0| 7 13 3NV +1 &3 -430 20.0 22.0
74 21 44 S-1 +5 -50 26.0 16.0( 7 13 24 N-1 v4 -100 17.0 25.0( 9 79 3NV +1 &2 -430 20.0 22.0
5 15 44 S-2 *2 -100 11.0 31.0(12 76 34 S-1 vA -100 17.0 25.0|10 78 3NV +1 &3 -430 20.0 22.0
7 13 34 S-2 6 -100 11.0 31.0|66 65 34 S-1 vK -100 17.0 25.0|67 64 3NV +1 +8 -430 20.0 22.0
11 77 44 S-2 46 -100 11.0 31.0(71 60 34 N-1 v3 -100 17.0 25.0|70 61 3NV +1 &3 -430 20.0 22.0
16 4 44 N-2 46 -100 11.0 31.0(75 20 34 N-1 v4 -100 17.0 250 5 15 5NO= *4 -460 7.0 35.0
68 63 44 S-2 *2 -100 11.0 31.0(80 8 34 S-1 vA -100 17.0 25.0(16 4 3NO+2 &3 -460 7.0 35.0
69 62 44 S-2 *2 -100 11.0 31.0(68 63 3¢ O= a5 -110 8.0 34.0|66 65 3NV +2 v4 -460 7.0 35.0
70 61 44 S-2 +6 -100 11.0 31.0|11 77 3v V= *A -140 6.0 36.0|71 60 3NV +2 v4 -460 7.0 35.0
71 60 4v S-2 +3 -100 11.0 31.0| 6 14 44 S-2 vA -200 3.0 39.0|72 59 3NV +2 va -460 7.0 35.0
12 76 44 S-3 *2 -150 2.0 40.0|72 59 34 S-2 vA 200 3.0 39.0|75 20 3NV +2 v2 -460 7.0 35.0
10 78 6NS-4 46 200 0.0 42.0(70 61 3¢DO+1 ¢7 -870 0.0 420| 1 19 3NV +3 4Q -490 0.0 42.0
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25 #« EKn75 26 « KKn105 27 # 10865
Nord v4 Ost v 8765 Syd v K873
ov ¢ EKn8 Alla ¢ Kn5 Ingen + Kn876
#98543 #Kn98 &8
4 D8432 4K9 4742 D83 a72 s E
vK532 vD1098 vE vKD102 v 95 v DKn10642
+10 + D97532 410974 ¢ EKD82 + K32 + D94
*K62 *7 #K7542 #10 #EKKN1052 #763
106 4 E96 4« KDKn943
v EKNn76 vKn943 vE
+ K64 ¢ 63 ¢ E105
#EDKnN10 &#ED63 D94
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
17 5 2¢yDO-3 v7 800 420 0.0| 6 16 1v O= *3 -80 420 00| 2 20 44DS= &A 590 39.0 3.0
13 76 3ANN+1 43 430 380 4.0(|13 76 3¢ O= v4 -110 40.0 2.0| 8 14 44DS= &A 590 39.0 3.0
19 3 3NS+1 v3 430 380 40| 8 14 3¢ O+1 3 -130 33.0 9.0(12 77 44DS= a2 590 39.0 3.0
70 63 3NS+1 v3 430 38.0 4.0|10 79 3¢ O+1 &A -130 33.0 9.0|59 74 44DS= A 590 39.0 3.0
7 15 3NS= a2 400 32.0 10.0|12 77 3¢ O+1 3 -130 33.0 9.0(17 5 54DV-3 46 500 34.0 8.0
71 62 3NS= &2 400 32.0 10.0|69 64 3¢ O+1 3 -130 33.0 9.0(13 76 44 N= &A 420 28.0 14.0
73 60 3NS= a2 400 32.0 10.0|70 63 3¢ O+1 &A -130 33.0 9.0|19 3 44 S= A 420 28.0 14.0
59 74 2¢yDO-1 &T 200 28.0 140(80 9 3¢ O+1 ¢8 -130 33.0 9.0|72 61 44 S= A 420 28.0 14.0
6 16 2NS= 43 120 26.0 16.0( 1 21 3¢ O+2 +6 -150 15.0 27.0(73 60 44 S= &A 420 28.0 14.0
121 3NS-1 3 50 17.0 250 2 20 4¢ O+1 3 -150 15.0 27.0 |75 22 44 S= *2 420 28.0 14.0
2 20 3NS-1 a2 -50 17.0 250 4 18 3¢ O+2 3 -150 15.0 27.0 |70 63 54DV -2 46 300 21.0 21.0
8 14 3NS-1 &3 -50 17.0 25.0( 7 15 1¢ V+4 ¢ -150 15.0 27.0(71 62 54DV -2 46 300 21.0 21.0
10 79 24 N-1 vT -50 17.0 25.0 (11 78 2NV +1 v8 -150 15.0 27.0|10 79 34 S+1 SA 170 18.0 24.0
12 77 54 S-1 43 -50 17.0 25.0(19 3 34 O+2 +¢6 -150 15.0 27.0 |67 66 5% V-3 46 150 16.0 26.0
67 66 3NS-1 *T -50 17.0 25.0 (67 66 1INV +2 v6 -150 15.0 27.0( 1 21 54DV-1 46 100 11.0 31.0
68 65 44 N-1 v4 -50 17.0 25.0(68 65 3¢ O+2 3 -150 15.0 27.0| 4 18 5# V-2 oT 100 11.0 31.0
75 22 3NS-1 v3 -50 17.0 25.0 (71 62 3¢ V+2 +3 -150 15.0 27.0|11 78 5vDO-1 &K 100 11.0 31.0
4 18 2v N-2 a7 -100 5.0 37.0(72 61 3¢ O+2 +6 -150 15.0 27.0(69 64 54DV -1 46 100 11.0 31.0
11 78 3NS-2 *T -100 5.0 37.0|73 60 3¢ V+2 v8 -150 15.0 27.0 |68 65 5# V-1 46 50 6.0 36.0
72 61 3NS-2 v3 -100 5.0 37.0(75 22 3¢ O+2 ¢2 -150 15.0 27.0| 6 16 54 S-1 &K -50 2.0 40.0
80 9 3NS-2 v3 -100 5.0 37.0(17 5 3v N- &T -300 2.0 40.0( 7 15 44 S-1 &A -50 2.0 40.0
69 64 6# N-3 *7 -150 0.0 42.0(59 74 5¢ O= ¢+6 -600 0.0 42.0(80 9 44 S-1 A -50 2.0 40.0
28 4 E984 29 465 30 4975
Vast v ES53 Nord v 953 Ost v DKn96
NS 4 10865 Alla + ED65 Ingen 4752
&#K3 &EKD2 D82
& KKn a7 4 ED87 41092 « EKn63 4 D4
vKDKn64 7 vK7 v ED1086 v42 v K8753
4+ Kn73 + EK42 ¢ Kn104 ¢ K97 ¢ E104 ¢ KDKn3
#EKN6 #D1098542 #10965 %43 #10763 #K5
4« D106532 « KKn43 4 K1082
v 10982 v Kn42 vE10
+ D9 4832 4 986
&7 £Kn87 *EKn94
Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng Par  Kontr Ut Res Poéng
7 17 3NV-3 s A 150 40.0 20| 1 59 INN-1 v6 -100 38.0 4.0|71 64 2NV-5 a5 250 42.0 0.0
14 76 3NV -3 8 150 40.0 20|18 6 INN-1 v6 -100 38.0 4.0(18 6 2¢ O-2 ¢+6 100 39.0 3.0
70 65 3NV-3 a4 150 40.0 2.0|60 75 INN-1 v6 -100 38.0 4.0|74 61 2NO-2 +9 100 39.0 3.0
18 6 4v V-2 v3 100 340 8.0|68 67 INN-1 v6 -100 38.0 40| 7 17 2v0O-1 vA 50 340 8.0
72 63 3NO-2 a2 100 340 8.0|69 66 INN-1 oT -100 38.0 4.0(|11 79 2NV-1 49 50 34.0 8.0
80 10 54DV -1 &A 100 340 8.0(71 64 2¢v 0= 2 -110 32.0 10.0|20 4 INO-1 +9 50 340 8.0
2 22 5#40-1 vT 50 22.0 20.0|14 76 INV+1 &A -120 30.0 120 1 59 INO= »5 -90 30.0 12.0
519 54 0-1 vT 50 22.0 20.0| 2 22 24 V+1 L Jo) -140 28.0 140 8 16 2v O= 48 -110 24.0 18.0
12 78 540 -1 43 50 22.0 20.0| 8 16 2vy O+2 &7 -170 26.0 16.0| 9 15 2v O = vA -110 24.0 18.0
13 77 64 O-1 3 50 22.0 20.0| 3 21 INN-2 v8 -200 15.0 27.0(13 77 2v O= 43 -110 24.0 18.0
20 4 54V-1 s A 50 22.0 20.0| 5 19 INN-2 vT -200 15.0 27.0(68 67 2v O= 49 -110 24.0 18.0
60 75 54 V-1 *T 50 22.0 20.0| 7 17 INN-2 v6 -200 15.0 27.0|69 66 2v O = 43 -110 24.0 18.0
69 66 3NV-1 8 50 22.0 20.0|11 79 INN-2 vT -200 15.0 27.0(12 78 INO+1 +9 -120 16.0 26.0
73 62 54 0O-1 vT 50 22.0 20.0|12 78 INN-2 oT -200 15.0 27.0|14 76 1INV +1 a5 -120 16.0 26.0
74 61 54 V-1 aA 50 22.0 20.0|13 77 INN-2 v6 -200 15.0 27.0|73 62 2NO= aT -120 16.0 26.0
321 2¢ V= +5 -90 12.0 30.0(70 65 INN-2 v6 -200 15.0 27.0| 3 21 2v O+1 &9 -140 11.0 31.0
8 16 54 O = 3 -400 8.0 34.0(73 62 INN-2 oT -200 15.0 27.0(72 63 2v O+1 &9 -140 11.0 31.0
11 79 3NV = +6 -400 8.0 34.0(74 61 INN-2 vT -200 15.0 27.0(70 65 INO+3 &4 -180 8.0 34.0
71 64 5% O= v8 -400 8.0 34.0(80 10 INN-2 v5 -200 15.0 27.0| 2 22 INDN-2 +K -300 6.0 36.0
9 15 3NV +1 a4 -430 3.0 39.0 9 15 3¢ N-4 *4 -400 2.0 40.0(80 10 2¢DO= +¢5 -470 4.0 38.0
68 67 3NV +1 *4 -430 3.0 39.0(20 4 INN-4 vT -400 2.0 40.0|60 75 INDN-3 ¢Q -500 2.0 40.0
159 3NV+2 v3 -460 0.0 42.0|72 63 24 S-4 vK -400 2.0 400 5 19 3vyDN-5 ¥2 -1100 0.0 42.0
31 « EK94 32 473 33 482
Syd vD106 Vast v K65 Nord v DKn872
NS + EKn1084 ov ¢ K97 Ingen ¢ KKn75
*6 #KDKn85 *E9
107 & Kn53 109 & EKn865 4 EKn754 & K106
vKKn532 ¢97 v 83 v EKn1042 vE5 v 1063
+93 + K6 ¢ EKn8632 ¢ 10 + 10 + E9862
#EDKn9 #K107432 #632 *74 #D10876 #Kn5
« D862 « KD42 « D93
vE84 v D97 v K94
¢+ D752 + D54 ¢+ D43
#85 #E109 #K432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
14 77 3NN +1 v9 630 420 0.0(12 79 24DO-3 ¢3 800 420 0.0(15 76 3v N= &J 140 41.0 1.0
8 18 44 N= v9 620 39.0 3.0| 359 3NN+1 vT 430 36.0 60|19 7 3vN= LN 140 41.0 1.0
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21 5 44 S= +9 620 39.0 30| 6 20 3BNN+1 vT 430 36.0 6.0|21 5 2vy N= & 110 37.0 5.0
80 11 54D O-3 45 500 36.0 6.0|19 7 3NS+1 +3 430 36.0 6.0|70 67 2v N= v3 110 37.0 5.0
13 78 54D O -2 &A 300 33.0 9.0(61 1 3NS+1 +6 430 36.0 60| 8 18 44 V-1 &A 50 340 8.0
69 68 54DO-2 45 300 33.0 9.0(80 11 3NN+1 46 430 36.0 6.0|80 11 3v N-1 a5 -50 32.0 10.0
19 7 34 S+1 EN) 170 28.0 14.0( 4 22 3NS= +3 400 27.0 15.0(10 16 34 V= &A -140 27.0 15.0
71 66 24 N+2 v9 170 28.0 14.0(10 16 3NS= a7 400 27.0 15.0(12 79 34 O= v4 -140 27.0 15.0
75 62 24 S+2 &2 170 28.0 14.0(21 5 3NS= +6 400 27.0 15.0(14 77 3«4 V= &A -140 27.0 15.0
3 59 4¢ N= v9 130 22.0 20.0(74 63 3NS= oT 400 27.0 15.0(61 1 24 V+1 vQ -140 27.0 15.0
6 20 2¢ N+2 v9 130 220 20.0| 2 60 24D O-1 »A 200 22.0 20.0( 2 60 34 V+1 vQ -170 13.0 29.0
61 1 4¢ N= &3 130 22.0 20.0(15 76 2N N +1 vA 150 19.0 23.0| 3 59 34 V+1 vQ -170 13.0 29.0
15 76 3¢ N= v9 110 15.0 27.0|69 68 2N S +1 *2 150 19.0 23.0| 6 20 34 V+1 7 -170 13.0 29.0
70 67 2¢ N+1 v9 110 15.0 27.0| 8 18 3NS-1 T 50 11.0 31.0| 9 17 24 V+2 &A -170 13.0 29.0
72 65 3¢ N= v9 110 15.0 27.0| 9 17 2NS-1 aT -50 11.0 31.0(13 78 34 O+1 v2 -170 13.0 29.0
74 63 3¢ N= v9 110 15.0 27.0|14 77 3NN-1 v2 -50 11.0 31.0|69 68 34 V+1 &A -170 13.0 29.0
10 16 5% O -2 46 100 9.0 33.0|70 67 3NS-1 T -50 11.0 31.0|71 66 34 V+1 vQ -170 13.0 29.0
73 64 58V -2 & K 100 9.0 33.0|72 65 34 N-1 *T 50 11.0 31.0|73 64 34 V+1 &A -170 13.0 29.0
4 22 3%V-1 &6 50 6.0 36.0|73 64 44 N-1 T -50 11.0 31.0|74 63 34 V+1 vQ -170 13.0 29.0
9 17 5¢ N-1 v9 -100 3.0 39.0|71 66 3NS-2 T -100 3.0 39.0|75 62 34 V+1 a2 -170 13.0 29.0
12 79 4¢ N-1 &7 -100 3.0 39.0(75 62 3NN-2 a2 -100 3.0 39.0| 4 22 44DV= 8 -590 2.0 40.0
2 60 1v V+1 s A -110 0.0 42.0|13 78 14 O+1 ¢4 -110 0.0 42.0|72 65 34DV +1 &2 -630 0.0 42.0
34 & K103 35 #1064 36 & K1042
Ost vKnl0 Syd vKD2 Vast v EKKn8
NS ¢ K62 oV + D10 Alla +10
#Kn9863 &#EKNn852 &#KKn85
4 ED962 &Knb5 & DKn92 & EKS83 & Kn98 & D65
v72 vED8 vE963 v Knl075 v- v 943
¢ EDKN7 410943 +9764 ¢ E52 + ED83 + Kn965
KD &E1042 &K &D3 #E107642 #D93
4874 a75 4 E73
v K96543 v84 vD107652
+85 ¢+ KKn83 ¢ K742
&75 109764 »-
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 79 3NO-3 &3 150 420 0.0]|62 2 3NO-3 &6 300 420 00|62 2 6vy S= &A 1430 420 0.0
16 76 5¢ O-2 vT 100 39.0 3.0| 361 4v0-2 a7 200 350 7.0(73 66 54DV -4 K 1100 40.0 2.0
22 6 5¢ V-2 vlJ 100 39.0 3.0| 559 4v0-2 46 200 350 70| 4 60 4v S+2 &A 680 31.0 11.0
20 8 44 V-1 vJ 50 35.0 7.0|10 18 4v O-2 +8 200 35,0 7.0|11 17 4v N+2 &A 680 31.0 11.0
71 68 6N O -1 v4 50 350 7.0|73 66 4v O-2 &T 200 350 7.0(13 79 4y N+2 LY:] 680 31.0 11.0
75 64 3¢ V= LX) -110 32.0 10.0(75 64 4v O-2 *2 200 350 7.0|16 76 4y N+2 &A 680 31.0 11.0
4 60 3NO= v4 -400 26.0 16.0 (80 12 4v V-2 &A 200 350 7.0(|22 6 4v S+2 &A 680 31.0 11.0
11 17 5¢ O= &7 -400 26.0 16.0|72 67 3« N= vJ 110 28.0 14.0(70 69 4v S+2 &A 680 31.0 11.0
14 78 3NO= &7 -400 26.0 16.0( 1 63 3v V-1 LY 100 22.0 20.0(74 65 4v S+2 &A 680 31.0 11.0
74 65 3NO= v4 -400 26.0 16.0| 4 60 3v V-1 &A 100 22.0 20.0(75 64 4v S+2 &A 680 31.0 11.0
80 12 3NO= v5 -400 26.0 16.0| 7 21 3v0O-1 &T 100 220 20.0( 1 63 4y S+1 *A 650 15.0 27.0
3 61 3NO+1 LY -430 14.0 28.0(14 78 3v V-1 LY 100 22.0 20.0( 3 61 4v S+1 &A 650 15.0 27.0
7 21 3NO+1 v2 -430 14.0 28.0(16 76 34 O-1 46 100 220 20.0( 7 21 4y N+1 &3 650 15.0 27.0
10 18 3NO +1 v5 -430 140 28.0|22 6 14 N+1 s A 90 16.0 26.0| 9 19 4v N+1 &3 650 15.0 27.0
15 77 3NO +1 v5 -430 140 28.0|20 8 2¢ V= &A -90 14.0 28.0(10 18 4v S+1 LY:] 650 15.0 27.0
62 2 3NO+1 &7 -430 14.0 28.0(15 77 INDN-1 &8 -100 11.0 31.0|14 78 4v S+1 49 650 15.0 27.0
70 69 3NO+1 v5 -430 14.0 28.0(74 65 44 N-2 aA -100 11.0 31.0|71 68 4v S+1 48 650 15.0 27.0
72 67 3NO+1 va -430 14.0 28.0 |11 17 2v V+1 LY -140 6.0 36.0|72 67 4v S+1 LY:] 650 15.0 27.0
1 63 3NO+2 v5 -460 3.0 39.0(13 79 24 O+1 &3 -140 6.0 36.0| 559 4v S= LY:] 620 5.0 37.0
559 3NO+2 v4 -460 3.0 39.0|70 69 3v O= a7 -140 6.0 36.0|15 77 4v N= &3 620 5.0 37.0
9 19 3NO +2 v5 -460 3.0 39.0|71 68 5& N-3 s A -150 2.0 40.0|20 8 6v S-1 LY:] -100 1.0 41.0
73 66 3N O +2 v9 -460 3.0 39.0| 9 19 54DN-3 «A -500 0.0 42.0|80 12 4v S-1 LY:] -100 1.0 41.0
37 & EKn43 38 & Kn972 39 a5
Nord v4 Ost vKnl1075 Syd v EK8742
NS 497532 oV 7 Alla + Kn9
D97 #K962 #Kn842
476 & K852 «KD5 #1083 4EKD82 474
vDKn9 vE63 vE43 v KD96 v3 v DKn965
¢ DKn84 ¢ EK106 ¢ K852 ¢ EKn63 + ED3 ¢ 7652
&#EKn42 #K5 &#753 &EKn &EK76  #53
«D109 «E64 & Kn10963
v K108752 v82 v10
¢- +D1094 + K1084
#10863 #D1084 D109
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
4 62 3NO-1 v5 50 40.0 20| 2 64 4v O-3 LX) 300 420 0.0(16 77 3NO-2 vT 200 40.0 2.0
74 67 3NO-1 a9 50 40.0 2.0|14 79 3NO-2 LY 200 39.0 3.0|17 76 44 V-2 vA 200 40.0 2.0
75 66 3NO-1 v4 50 40.0 2.0|72 69 3NO-2 LY 200 39.0 3.0(21 9 3NO-2 vT 200 40.0 2.0
165 3NO= v7 -400 24.0 18.0(10 20 3NO-1 *4 100 29.0 13.0| 1 65 4e V-1 vA 100 33.0 9.0
2 64 3NO= v5 -400 24.0 18.0(12 18 3NO-1 &4 100 29.0 13.0|15 78 44 V-1 vA 100 33.0 9.0
561 3NV= a4 -400 240 18.0(16 77 3NO-1 *T 100 29.0 13.0(72 69 3NO-1 a3 100 33.0 9.0
10 20 3NO= v7 -400 24.0 18.0|17 76 3NV-1 a7 100 29.0 13.0(75 66 34 V-1 a2 100 33.0 9.0
11 19 3NO= v5 -400 24.0 18059 7 3NO-1 46 100 29.0 13.0(59 7 24 V= vA -110 28.0 14.0
12 18 3NV = +3 -400 24.0 18.0(71 70 3NO-1 aA 100 29.0 13.0( 6 60 24 V+1 *J -140 24.0 18.0
14 79 3NO= v5 -400 24.0 18.0(74 67 3NO-1 LY 100 29.0 13.0(14 79 24 V+1 vA -140 24.0 18.0
16 77 3NO= v7 -400 24.0 18.0(75 66 3NO-1 T 100 29.0 13.0(63 3 24 V+1 vA -140 24.0 18.0
17 76 3NO = 49 -400 24.0 180| 1 65 3NO= *4 -600 14.0 28.0(74 67 24 S-3 v3 -300 20.0 22.0
21 9 3NO= v5 -400 24.0 180 4 62 3NO= v8 -600 14.0 28.0(73 68 2NDS-2 ¢3 -500 18.0 24.0
59 7 3NO= &6 -400 24.0 180| 5 61 3NO= LX) -600 14.0 28.0(71 70 3NO = vT -600 16.0 26.0
71 70 3NO = v4 -400 24.0 180| 6 60 3NO= +9 -600 14.0 28.0| 5 61 44 V= vK -620 14.0 28.0
72 69 3NO= v5 -400 24.0 18.0(11 19 3NO= v8 -600 14.0 28.0| 2 64 34DV= YA -730 12.0 30.0
6 60 3NV +1 v4 -430 8.0 340(21 9 3NO= T -600 14.0 28.0| 4 62 2¢vDN-3 a7 -800 8.0 34.0
15 78 3NO +1 v7 -430 8.0 340|773 68 3NO= *T -600 14.0 28.0| 8 22 2vDN-3 &7 -800 8.0 34.0
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63 3 3NO+1 a9 -430 8.0 340( 8 22 3NO+1 v8 -630 3.0 39.0(80 13 14DS-3 &A -800 8.0 34.0
8 22 2vyDS-3 a7 -800 3.0 39.0(15 78 3NO+1 ¢9 -630 3.0 39.0(10 20 44RDV= vA -1080 4.0 38.0
80 13 2vDS-3 &5 -800 3.0 39.0(63 3 3NO+1 v8 -630 3.0 39.0(11 19 2vyDN-4 a7 -1100 2.0 40.0
73 68 34aDN-4 ¢A -1100 0.0 42.0(80 13 3NO +1 v8 -630 3.0 39.0(12 18 44DN-5 a7 -1400 0.0 42.0
4 62 Pen/Pen 0.0 -4.2 5 61 Pen/Pen 0.0 -4.2
40 494 41 432 42 & K4
Vast v K1085 Nord v73 Ost vE73
Ingen + EKn105 ov + D954 Alla + D104
&765 &#ED1062 #K9854
a2 & EK8763 «E9 4 K1054 & Kn86 4932
v E942 vD76 v EKD9654 v Kn82 v10962 vDKn4
¢ D7 +63 *2 + K1073 +3 + K9862
#EKn10432 #D8 #875 K9 #E10732 #DKn
& DKn105 & DKn876 « ED1075
vKn3 v10 v K85
¢ K9842 + EKn86 ¢ EKn75
K9 #Kn43 »6
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 66 4v V-4 *A 200 420 00| 2 66 4¢ S-3 vA -150 420 0.0| 2 66 3NN+3 *2 690 37.0 5.0
5 63 3NV-2 *T 100 370 50| 1 67 2v V+3 43 -200 40.0 2.0|17 77 3NN+3 +2 690 37.0 5.0
13 19 44 O-2 *2 100 37.0 50| 959 3NO= 46 -600 38.0 4.0(18 76 3NS+3 &2 690 37.0 5.0
22 10 44 O-2 4Q 100 37.0 50| 563 4v V= a3 -620 350 7.0(22 10 3NN+3 +6 690 37.0 5.0
73 70 34 O-2 +2 100 37.0 5.0(12 20 4y V= a3 -620 350 7.0/60 8 3NN+3 vQ 690 37.0 5.0
15 79 34 0-1 +8 50 30.0 12.0| 6 62 3NV +1 a7 -630 32.0 10.0 (80 14 3NN+3 *2 690 37.0 5.0
16 78 44 0O-1 49 50 30.0 12.0( 3 65 4y V+1 a3 -650 16.0 26.0| 7 61 3NN+2 vQ 660 26.0 16.0
72 71 4v O-1 +2 50 30.0 12.0( 7 61 4y V+1 +5 -650 16.0 26.0| 9 59 3NN+2 +2 660 26.0 16.0
75 68 3¢ S-1 &2 -50 26.0 16.0(11 21 5v V= 43 -650 16.0 26.0 (15 79 3NN +2 +9 660 26.0 16.0
1 67 24 O= 4Q -110 20.0 22.0(13 19 4vy O+1 43 -650 16.0 26.0|64 4 3NN+2 &Q 660 26.0 16.0
3 65 24 O= vJ -110 20.0 22.0|15 79 4v V+1 43 -650 16.0 26.0|74 69 3NS+2 vo6 660 26.0 16.0
7 61 24 O= vlJ -110 20.0 22.0(16 78 4y O+1 42 -650 16.0 26.0 (16 78 44 N+1 +3 650 20.0 22.0
18 76 24 O = vlJ -110 20.0 22.0(17 77 4v O+1 42 -650 16.0 26.0| 3 65 3NN+1 vQ 630 14.0 28.0
60 8 24 O= vJ -110 20.0 22.0(18 76 4y V+1 43 -650 16.0 26.0| 5 63 3NS+1 vo6 630 14.0 28.0
9 59 34 O= *2 -140 13.0 29.0|22 10 4v V+1 43 -650 16.0 26.0 (12 20 3NN+1 49 630 14.0 28.0
64 4 24 O+1 v -140 13.0 29.0|60 8 4v V+1 a3 -650 16.0 26.0|13 19 3NS+1 *J 630 14.0 28.0
12 20 2NV +1 +2 -150 10.0 32.0|64 4 4v V+1 +5 -650 16.0 26.0|75 68 3NN+1 +2 630 14.0 28.0
6 62 3#V+3 T -170 6.0 36.0|72 71 4v V+1 43 -650 16.0 26.0( 1 67 3NS= &2 600 6.0 36.0
11 21 24 O+2  vJ -170 6.0 36.0(73 70 4v V+1 43 -650 16.0 26.0|11 21 3NS= v9 600 6.0 36.0
74 69 34 O+1 vJ -170 6.0 36.0(74 69 4v V+1 a3 -650 16.0 26.0|72 71 3NN= vQ 600 6.0 36.0
17 77 3NV = v8 -400 2.0 40.0(80 14 4v V+1 43 -650 16.0 26.0( 6 62 2NN +2 vQ 180 1.0 41.0
80 14 24D O= vJ -470 0.0 42.0(75 68 3NDO= &A -750 0.0 42.0(73 70 2NN +2 +6 180 1.0 41.0
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